—BEFA £8F—L EFAEAI—+ £ & 08:30

FE)-J  HEEF

D(1—2) @(8—4) @(2—4) @(1—3)

A/S—k 1 2 3 4 | B5BER | B | Bxa| B RER—F AL
1|49 TC 2-1 | 3-0 2-0 | 0.83 2 £IN—k~ 1{L-241
2 |k TRR)UTA 1-2 0-3| 0-2 | 0.17 3
3 |KSPA 0-3 0-3[02] 0 4 2-1
4 |REARD7I)— 3-0 | 3-0 2-0 | 1.00 1 . n
RERATE
-1 BB EARIFIY—
B/{—F 1| 2 | 8 | 4 || BERR| B (ms| IEL fHTE REB (oJTC
/ —
1|05 el E 3-0 | 1-2 1-1| 067 | 054 | 3 3ff  RKKIL—FUZR
2 |AB#&RER1T 0-3 0-3 || 0-2 4 B 2-0 RERATE
\ RKKIL—T > R ——
3 |RKKJL—TFT >R 2-1 2-1 || 2-0 1
4 |gE AT 3-0 | 1-2 1-1 {067 | 066 | 2

U—RIERL D1JTC

QUL EHREEH



—fEEFB £16F—L/IN—IRK—LEX & &

08:30

F®Y—S HEAEF D(1-2) @B—-4) @(2—4) @®(1-3)
A/S—bk 1 2 3 4 | BERR | BB (BEm| IR
1 |[KxTC 1-2 | 1-2 02| 0 4
2 [ZBARF=245T| 2-1 0-3| 1-1 | 0.33 3
3 (MY TRR)USB 2-1 1-2 | 1-1 | 05 2
4 |DIVOERE AL 3-0 | 2-1 2-0 | 1 1
B/S—hk 1 2 3 4 || BR[| B (S| IEAL
1 [TOP—SPIN 3-0 | 3-0 2-0 | 1 |0857| 1
2 |[H—2ILARIILT || 0-3 0-30-2| 0 0 3
3 |IBRERKR—Y 0-3 0-30-2| 0 0 3
4 |y=— 3-0 | 3-0 2-0 | 1 |0.766| 2
C/8—hk 1 2 3 4 | BERR | BB (BEm| IR
1 loreRaER 3-0 | 2-1 2-0 | 083 |0596| 2
2 [F—LBHR 0-3 0-3| 02| o
3 [MAXIMUM DRIVE || 1-2 1-2 || 0-2 | 0.33
4|77 3-0 | 2-1 2-0 | 083 |0.680| 1
D/8—Fk 1 2 3 4 || BR[| B S| IELL
1 [TKU 0-3 | 2-1 1-1 2
2 |27T7=X 3-0 3-0 || 2-0 1
3|BFTCTIULVF—4 1-2 2-1 || 1-1 3
4 IR EAT 0-3 | 1-2 0-2 4
—FRIERL DKXTC @TOP—SPIN QU AEREEH

REEN—F A (EE)
LIN—k 141-241
DIVO S 15 i, s
2-1
TKU
2-0
\j:__
2-1
TILID7
2-0 =8
EE
TOP—SPIN
2-1 36z
34
VA REES
2-0
MTRAR)SB
) 2-0
FIT TR e
EEx iR

FILIF
ST7=X
TOP-SPIN
DIVOE IR B



—BEFA 29F—L IN—HFR—LEX & & 08:30
FE)—T HEIEF O(1—2) QODKE—3) QUEYKE)

AsS—F 1 2 3 || BER | B (S| B REER—F A (GR)
1R UR 3-0 | 2-1 || 2-0 1 Fi\—b~ 14624
2 [ZEXEF= 0-3 2-1 || 1-1 2
)| % Sy 3
3 (V=R 1-2 | 1-2 0-2 3 2-0
- — — TORR—Y
B/S—k 1 2 3 || BEX | B (Bks| IBGAL
1 | BEEK 2 1-2 | 2-1 || 1-1 | 05 |0527| 1 o 2-0
7T AR—YFelice
2 IMT.G. 2-1 1-2 | 1-1 | 0.5 |0.465| 3 2-0 B IS RAR—Y
3 7o rRK—Y 1-2 | 2-1 1-1 | 05 |0509| 2 MR FIERER
KPPO & U A 1R E ——
2-1 34k )| % o7 I 3
C/v\—k 1 2 3 | BEX | B (BkA| B 34 PEXEFS
525 ZEKXRFR
1 | 7P RR—YFelice 2-1 | 1-=2 || 1-1 |0.500 2 2-1
2 |KPPOR VS EHRE) 1-2 3-0 || 1-1 |0.666 1 u
FIREEK S
3 (W-I-T-A 2-1 | 0-3 1-1 10.333 3

O—FRIERL DILRH R QFIEBKE



—BEFBL14F—L IN—HIF—LEEX & &

12:30

FE)—Y  HEEF O(1-2) QO@OOBE—S3) QUFEYHSE)
AsS—F 1 2 3 || BER | B (Bxm| AL
1|E/Nvir 0-3 | 1-2 | 0-2 3
2 LAY R 3-0 0-3 || 1-1 2
3 |W-I-T(B) 2-1 | 3-0 2-0 1
B/{—k 1 2 3 || BB | B |Bkm| IEAL
1|EnN-71y—F 2-1 | 1-2 || 1-1 | 05 2
2 |15797=%1 1-2 3-0 || 1-1 | 0.67 1
3|TIF 48 2-1 | 0-3 1-1 | 033 3
HEIEF D(1—2) @(3—4) @(2—4) @®(1—-3)
C/R—Fk 1 2 3 4 || B5ER | B |Bxs| B
1{M1TC 3-0 | 2-1 2-0 | 0.83 1
2 [REARKZENBH 0-3 1-2 || 0-2 | 0.17 4
3|BFTC 1-2 1-2 | 0-2 | 0.33 3
4 IMT.G 2-1 | 2-1 2-0 | 0.67 2
D/{—k 1 2 3 4 || B5ER | B |Bxs| AL
1 |ABCAUR7 3-0 | 2-1 2-0 | 0.83 |0.6604 1
2 |773YTART 0-3 1-2 | 0-2 017|023 | 4
3IKTT 1-2 0-3| 0-2|017| 042 | 3
4 |\EOHST 2-1 | 3-0 2-0 | 0.83 |0.6600, 2

REN—F AU GEE)
fI—k 1{L-24

W1 T(B) s

2-1
FEOYT7 e
2-1
M.T.G e
o 2-0
ST TR e
M 1 TC m—
2-1
E/N-TF1)—F —
2-0
JLAH Y R e
) 2-0

XEFREINIZHE T H R =8
mF—LEBET D,

28 Mi1TC

M.T.G
3fiL ABCAVE7

W-I1-T(B)



RTFSUA ©4F—L KR—IF—LEX £ &

13:50

REB—S HEIEF D(1-4) @(2—-3) @(1—3) @(2—4)
®(1—2) ®(3—4)

1 2 3 4 | BSRR | B E [FE A IRMAL

1[FU> 3-0 | 3-0 | 3-0 || 3-0 1

2 |INTTEEA 0-3 1-2 | 21| 1-2 | 033 | 040 | 4

3 |RERAKGE 0-3 | 2-1 1-2 || 1-2 [ 033 | 048 | 2

4 [REARTHIRFRTC 0-3 | 1-2 | 21 1-2 | 033|045| 3
DT EAF—LEEBABEAI—L £ & 12:380

REB—0 HBIEF D(1—-4) @(2—3) @(1—3) @(2—4)
®(1—2) ®(3—4)
1 2 3 4 || BB | B Bk IBEL
1 |BERSyh95T 1-2 | 1-2 | 2-1 ][ 1-2 3
2 |REERA 2-1 3-0 | 3-0 | 3-0 1
KEED, 2-1 | 0-3 3-0 || 2-1 2
4 |REER 1-2 | 0-3 | 0-3 0-3 4

g U
B R AR
3L REART/ATC

Z s A
EEBBXY
3L REERSHTYNIST



